N

= SHIE 6A BEm—R Tk
R An £ fifi ¥ (F9) R T £ fil #& (M)
1 |EERHE (24%) 2,500 41 (LA (B) 1,000
2 |BERE (26%) 2,500 42 [LVPE(C) 1,000
3 |BErE (26%) 2,500 43 |FyFI73a2(A) 1,000
4 |BERE(26%!) 2,500 44 |FvyFrI3a2(B) 1,000
5 |BEnE(27%) 3,000 45 |5 1,000
6 |BEREX 7T (26%) 3,000 46 |RF—ILHH(A) 2,500
7 |BEREXT7{+(26%) 3,000 47 |RF—ILH(B) 1,500
8 |BEREFXT7H Q7R 3,500 48 |AF—)L#fi(C) 1,500
9 |BEEXT7HQIE) 3,500 49 |[BRFRb 1,000
10 |BERE X7 {1 (700%!) 4,000 50 |E&R')w/\HH 800
11 |9 F2 814 (268!) 4,000 51 |RE—Fx7— 1,500
12 |BEsEF 71 (247) 2,500 52 | R&/INFE 500
13 |BEEX 71 (24F)) 2,500 53 |RF—ILERIA(RE2H) 500
14 |EERE (24%) 2,000 54 |RF—ILEEEB(AAH-ORYR) 800
15 |BEsEFX 7 (228) 2,000
16 |BEREFX 71 (228!) 2,000
17 |BEsEF 7 (228) 2,000
18 |BEREFX 71 (228!) 2,000
19 |BEsEF 71 (208 2,000
20 |BERE X711 (20F)) 2,000
21 |EEREH (20%Y) 2,500
22 |BERHE (18%Y) 1,500
23 |BERE (18%Y) 1,500
24 |BERHE (18%Y) 1,500
25 |#fYt-t-#BEELTH(208) | 3,000
26 |BEsEmBIT (18HY) 1,500
27 |BEEMBIT (16FY) 1,500
28 |BERHE (18%Y) 800
29 |ELVY (A) 1,500
30 |EL\9 (B) 1,500
31 |[Lvg (A) 1,500
32 |Lvg (B) 2,000
33 |LVvg (C) 800
34 |Lv3 (D) 800
35 |Lve (E) 500
36 |LVF(F) 800
37 |Lvg (D) 2,500
38 |T—TIL(A) 1,500
39 |[7—7)L(B) 800
40 [LTE(A) 1,000




